Codebook – Project1
Hypothetical: A survey was administered to a sample of benefits package recipients at the firm.  The aims are to determine how the importance of various benefits differs across respondents and whether some groups are more or less satisfied with benefits. 
Code





A

case identifier

1-51

Tenure





B
years with company

0-99

Age





C
years

0-99

Gender





D

1.  Male

2.  Female

Earnings




E

weekly

0 - 9999

Hours





F

usual per week

0-99

Egrp

Employee group



G

1.  Faculty association

2.  Support personal

3.  Executives/Management

Dep





H

Number of dependents

0.  None

1.  One

2.  Two

3.  Three or more

Understanding that the company has limited resources, I consider the following benefits:

1. Unimportant…………………….5. Important
Pen





I

401(k)

WRS





J

Wisconsin Retirement System

HINS





K

Group health insurance

Dent





L

Dental plan

Sleave





M

Sick leave paid

LI





N

Life insurance

Vac





O

Paid vacation

Sat





P

I am satisfied with my benefits levels

1.  Strongly disagree

2.  Somewhat disagree

3.  Neutral

4.  Somewhat agree

5.  Strongly agree

Chg





Q

I think that changes should be made to the benefits package

1.  Strongly disagree

2.  Somewhat disagree

3.  Neutral

4.  Somewhat agree

5.  Strongly agree

